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Part B —Structured Essay Question
(15«1 = 15 Marks)

Writing anmswer for this question is compilsory. Write the answer within the space

provided in the guestion paper.
0l
a)

. i List 2.uses of health statistics in nursing practice.

” (2 Warks)
ii. List4 characteristics of the Standard Normal distribution.
N (2 Marks)
iii. List 2 graphical methods used in descriptive statistics.
(2 Marks)
iv. List3 characteristics of a test that can be used as a screening test.
{2 Marks)
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b)
i. In a sample of 100 patients there were 20 patients with cardiovascular diseases.
Calculate the standard error of the proportion of cardiovascular patients in this

sample.

v (3 miarks)

. ii.. A fotal of 400 patients had undergone a screening test. There were 130. True.
Positives, 8 False Positives, 190 True Negatives and 22 False Negatives. What is
the sensitivity and specificity of this test?

- . (4 marks)
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INDEX NO:

Part C —Structured Essay Questions

(15*3 = 45 Marks)

There are 5 structured essay questions. Write answers for only three questions in the

answer books provided.

01. Level of anxiety of a group of 7 psychiatric patients were measured using the
Generalized Anxiety Disorder Questionnaire (GAD - 7). The scores are given below,

Patient fiumber" | "GAD-T scote () | = (%~ &) (x; = %)?
1 8
2 12
3 14
4 9
6 10
L7 15
san. Complete_iile abovetable, C e o {3 marks)
b. Calculate mean, median and mode of the above data set. (3 marks)

c. 7Calcru1ate the variance and the standard deviation of the above data set

d. Compute standard error of the mean of the above data set
~ e. Compute 95% confidence interval (95% CI) of the population mean of GAD-7

il this target population.

" (4 marks)
(2 marks)

_ (3 marks)

2. A group of patients (n= [00) who. attended the- outpatient clinic in a hospital. was
tested for blood glucose. The mean fasting blood glucose level of the sample was 7
mmol/L and the standard deviation was 2 mmol/L.

If the fasting blood glucose level between 3.9 to 5.5 mmol/L is considercd as
normal, what percentage of the patients were having normal blood glucose
level? {4 marks)
. If the fasting blood glucose level between 5.6 to 6.9 mmol/L is considered as
~ having pre-diabetes, what percentage of the patients were pre-diabetics?

(4 marks)
What is the standard etror of the mean blood glucose level of this sample?

(3 marks)
Compute the 95% confidence interval (95% CI) for the population mean of
blood glucose in this target group.

(4 marks)
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3. Data on back pain of a group of 200 randomly selected nurses was obtained. Resulfs
are given below.

4,

Male Nurses Female nurses
Having back pain 40 70
Not having back pain 60 30

a. If we randomly select a participant from this sample what is the probability of

getting selected a male nurse with back pain? (2 marks)
b. Just by looking at prevalence which group has the higher risk of developing
back pain? (2 marks)

¢. If a researcher is inferested in identifying whether there is a gender difference

......of back pain in nurses, what should be the null and the alternative hypothesis?

‘ (4 marks)
d. Using the data test your hypotheses at 5 % significant level.
(7 marks)

i. A nursing practitioner is interested in identifying risk factors of asthma in children.

She is planning to conduct a case-control study.

a. What is the difference between cohort and case-control studies? (2 marks)

.. h.. A case- control study was conducted to identify xisk of passive.smoking in

ii.

developing asthma in children, The Odds ratio (OR) was 3. How do you

interpret this result? (2 marks)
a. List 2 qualitative data collection methods (2 marks)
b. List 2 quantitative data colléction miethods -7 {2 marks)
¢. What are the sections that should be included in a research protocol {research

proposal)? e 3 {7 marks)

A researcher is interested in investigating association between age (in years) and
level of blood cholesterol (mmol/L). Regression equation of level of cholestercl

“andage is determined by the equation:

1.

Cholesterol = 1.2 + 0.06 {Age)

a. Is the refationship between level of cholesterol and age positive or negative?

; C e {2 marks)

b. What is the level of cholesterol of a person aged 50 years? (5 marks)
Define the followin'g terms

a. Attack Rate (2 marks)

b. Maternal mortality rate (2 marks)

¢, Infant mortality ratc (2 marks)

d. Crude death rate (2 marks)
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Necessary Formulae

.
e

The following equations are given in the usual/ standard notation.

SE @ = 0
T yn

st () = 7

Necessary Statistical Tables

Chi-Square Table
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STANDARD NORMAL TABLE {2)

Entries in the 1able give the area under the curve
between the mean and 7 standard deviations above
the mean. For example, for z= 1.25 the area under
the curve belween the mean {0) and 7 is (3944,
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